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��� ��وم ا�����ر��  ا���� ا�
 

  :ا���ر�ن ا
ول

  :، أو�د ا&����&ت ا������δ=20و  x =90: �د��� ظ�ھرة ا ���د�� ����� �وز�� ط����� 

• P(x> 100), P(90 < x < 114), P(95< x <110), P(80< x < 110), P(x <70), P(x=60) 

��	
   :ا���ر�ن ا�

�م و ا��راف  175إذا -��ت أطوال ا�ر��ل +	 ��د ���ن �وز�� ��ب ا�(��ون ا����	 ���و�ط ����	 

�م  164= ا����ء +	 �3س ا���د ��ب �3س ا�(��ون �-ن ا���و�ط ا�����	 ، ����� ��وزع أطوال �10���ري 

  .δ  =6و 

 .�م 167ا����ل أن �-ون �-ل �ن زو��ن �����ن  ��� �3وق  �� •

 .�م ��170 ا����ل أن �-ون �6د ا�زو��ن  ��� �3وق  •

  :ا���ر�ن ا�
	�ث

  2وا��راف ����ري  13ط��ب ���وا +	 ا&���ء -��ت ��وزع ط����� ���دل  ��7�200ت 

 .16و  ��14 ھو �دد ا�ط��� ا�ذ�ن ��راوح �����7م ��ن  •

  :ا�را��ا���ر�ن 

P(x ≤ 235) = 91.92% 

P(x ≤ 260) = 99.18% 

 

P(x < -1) = 0.05 

P(x > 3) = 0.15 

 

  +	 -ل ���� V(X)و  E(X)أ��ب  •

 P(x>0)أ��ب  •

 


